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151 pn 15 08:50 = 08:00 U= 1 0 30 1 1 5 palae sl Jalail) 453 oS 30125
88 pn 15 02:50,  01:00, 2 0 15 1 2 e AR 453 A5 30126
88 pn 15 12:50, 11:00 o= 2 0 15 2 2 ke sl Jalail) 453 oS 60134
222 pn 15 08:50 = 08:00 U= 2 7 30 1 1 8 ualae )y sile s S 5 Alaasl Juail) (3500 458 A5 59593
88 pn 15 12:550, 11:00 o= 5 7 30 1 2 ke Al sile 5 S0 5 AilaasSl Juail (3,00 458 aS 59594
88 axi 15 01:50- 10:00 o= 3 6 30 1 4 e Ll Y il 5 dgal e oyl 497 o< 58866
88 pxd 15 K (e 23y ol 2 30 2 4 JAPES Ll Y il 8 dgal e oyl 497 oS 59595
88 pnd 15 HISH (e 20y ol 3 1 1 6 & 5 e A g 5 e 499 aS 60097
88 pnd 15 HISH (e 23y ol 0 1 2 6 & 5 e A g 5 e 499 aS 60098
88 pn 15 ERN RN 0 1 3 6 & 5o A g 5 ke 499 aS 60099
88 pn 15 ERN RN 0 1 4 6 & 5 e A g 5 ke 499 aS 60100
88 pn 15 ERN RN 0 1 5 6 & 5o A g 5 ke 499 aS 60101
88 pn 15 ERN RN 0 1 6 6 & 5o A g 5 ke 499 aS 60102
88 pad 15 ERNJRRENN 0 1 7 6 & 5 oa A g 5 ke 499 S 60103
88 pad 15 ERN RN 0 1 8 6 & 5 oa A g 5 ke 499 S 60104
88 pad 15 ERNJRRENN 0 1 9 6 & 5 oa A g 5 ke 499 S 60105
88 pad 15 ERNJRRENN 0 1 10 6 & 5 oa A g 5 ke 499 S 60106
88 pad 15 ERNJRRENN 0 1 11 6 & 5 oa A g 5 ke 499 S 60107
88 pn 15 ERNJRRENIN 0 1 12 6 & 5 a A g 5 ke 499 S 60108
88 pn 15 ERNNJRRENIN 0 1 13 6 & 5 oa A g 5 e 499 S 60109
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88 1 14 6 & 5 e g A g 5 e 499 oS 60110
88 axi 15 AN (e 2angy ol 0 1 15 6 & 5 g A g 5 e 499 oS 60111
88 axi 15 AN (e 2angy ol 0 1 16 6 & 5 g A g 5 e 499 oS 60112
88 axi 15 EEINIPURIRN| 0 1 17 6 & 5 e g A g 5 e 499 oS 60113
88 axi 15 AN (e 2ang ol 0 1 18 6 & 5 g A g 5 e 499 oS 60114
88 axi 15 AN (e 2ang ol 0 1 19 6 & 5 e g A g 5 e 499 oS 60115
88 o 15 ERIN[EURRIENIN 0 1 20 6 & s A g 5 e 499 A< 60116
41 o 15 10:50 = 10:00 v= 15 2 30 1 2 5 palae ) ale 102 < 24515
88 o 15 09:50 = 08:00 u= 2 30 1 2 e ) e 102 < 24516
41 o 15 09:50 = 08:00 u= 0 30 2 2 5 palae ) ale 102 < 25599
88 o 15 02:50-  01:00 0 30 2 2 e ) e 102 < 25600
41 o 15 09:50 = 09:00 v= 15 1 30 3 2 5 palae ) ale 102 < 29269
88 o 15 11:50 = 10:00 v= 2 1 30 3 2 e ) e 102 < 29270
231 ol 31 15 09:50 u= 09:00 u= 15 3 31 1 2 3 palaa Ada sLall oo 140 G 24511
88 o 31 15 11:50 u= 10:00 u= 4 3 31 1 2 e Ada sLall oo 140 G 24512
231 ol 31 15 11:50 4= 11:00 u= 15 6 62 5 2 5 ualaa 1A slayl Ao 140 G~ 27635
88 ol 31 15 09:50 u= 08:00 u= 2 6 62 5 2 e Ada sLall oo 140 G 27636
231 o 31 15 09:50 = 09:00 u= 15 2 40 6 2 5 palae Ada elall oo 140 G 29267
88 o 31 15 09:50 = 08:00 o= 2 40 6 2 e Ada slall oo 140 G 29268
231 o 31 15 11:50 u= 10:00 o= 0 40 7 2 5 palae Ada slall oo 140 G 29292
88 o 31 15 09:50 u= 08:00 u= 0 40 7 2 e Ada elall oo 140 G 29293
231 and 31 15 11:50 s= 11:00 o= 15 0 36 8 2 b palae Agdall eyl ale 140 G~ 59385
88 axd 31 15 09:50 u= 08:00 = 2 0 36 8 2 e Ada elall ole 140 G 59386
31 axd 15 09:50 = 09:00 u= 15 9 20 1 2 5 palas il g i ple 211 < 55785
88 axd 15 09:50 = 08:00 u= 3 9 20 1 2 e Ll =y 55 ple 211 < 55786
231 axd 15 08:50 = 08:00 u= 13 0 30 2 2 5 palas i g i 212 < 25591
88 axi 15 04:50, 01:00, 3 0 30 3 4 e Sl g i 212 < 25592
223 axi 15 12:50,  12:00, 3 13 20 2 1 §_palas L ene Gl jans 213 @ 25596
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and 15 11:50 o= 10:00 o= 4 13

88 20 3 2 e Logae Gl st 213 ¢ 25597
53 pn 15 08:50 = 08:00 L= 2 1 30 1 1 5 nalaa A Ladl 3R S N 222 s 55871
88 pxi 15 11:50 = 10:00 = 3 1 30 1 2 e A Ladl 3R S N 222 s 55872
53 pn 15 09:50 = 09:00 U= 2 0 40 2 1 5 palae A oLl A Sl 222 Gas 61781
88 pn 15 02:550, 01:00, 3 0 40 2 2 DS Al oL A S 222 G 61784
153 pn 15 09:50 0= 09:00 = 24 9 20 2 2 5 walae Loa) il Gai bl 222 28 24517
88 and 15 11:50 b= 10:00 = 2 9 20 3 2 (e A n ) il Cayieat bl 222 Cus 24518
88 pn 31 15 04:50, 01:00, 3 1 40 1 4 e Lode e 240 G 25720
88 pn 31 15 04:50, 01:00, 1 0 42 2 4 e Lode e 240 G 41263
88 pn 31 15 04:50, 01:00, 4 2 30 3 4 e Lode e 240 G 56216
243 pn 15 08:50 4= 08:00 = 24 5 20 2 2 5 walae Al 2l Sl g 241 & 25604
88 pn 15 11:50 = 10:00 u= 3 5 20 3 2 e Al d5l) Jal g 241 & 25605
243 pn 15 09:50 4= 08:00 U= 1 40 1 2 5 jalaa dall il yill e 250 Gas 25722
88 pnd 15 11:50 = 10:00 u= 1 1 40 1 2 e dall il il e 250 Gas 25723
243 pnd 15 11550 0= 11:00 0= 24 1 40 2 2 5 jalaa dall il yill e 250 Gas 38505
88 pnd 15 02:50,  01:00, 1 40 2 2 AR i il il e 250 Gas 38506
33 axi 15 10:50 o= 10:00 o= 0 30 1 1 5 palae L jall slal 251 (= 27627
88 pn 15 02:550,  01:00, 0 30 1 2 e el ela¥l 251 (s 27628
123 pn 15 08:50 b= 08:00 = 35 9 20 1 2 5 alae 1Al 5 ) gl 5 dabay) 480 251 s 25628
88 pn 15 11:50 o= 10:00 u= 5 9 20 1 2 e 1Al 35 ) gl 5 dibay) 480 251 s 25629
51 pn 15 09:50 b= 09:00 = 135 1 10 2 3 5 alae B4 ale 253 < 25607
88 pad 15 11:50 0= 10:00 U= 4 1 10 3 2 e Ll ale 253 s 25608
51 pad 15 08:50 4= 08:00 = 15 11 20 1 2 3 ualae B4 ale 254 < 55801
88 pad 15 02:50, 01:00, 1 11 20 1 2 e EC PPN 254 s 55802
133 pad 15 09:50 4= 08:00 U= 1 1 30 2 2 5 walae Al LSl e 260 G 33712
88 pad 15 11:50 0= 10:00 U= 1 1 30 2 2 DS Al Lyl ale 260 Gas 33713
133 pn 15 11:550 0= 11:00 0= 24 0 40 3 2 5 walae Al LSl e 260 G 61698
88 pn 15 02:550,  01:00, 2 0 40 3 2 e Al Lyl ple 260 Gas 61701
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axd 15 09:50 u= 09:00 u= 24 2

223 30 1 2 b palaae pladl iy yladll ole 270 G 25734
88 axd 15 02:50.  01:00 - 4 2 30 1 2 (e pladl iy Hladll ale 270 G 25735
223 axd 15 09:50 u= 08:00 u= 4 0 40 2 2 & palaa pladl iy yladll ole 270 G 61714
88 axd 15 02:50.  01:00 - 4 0 40 2 2 e aladl iy il ol 270 G 61716
51 and 15 11:50 o= 10:00 = 3 0 20 2 2 b puialaa R P 271 @ 25609
88 axd 15 11:50 s= 08:00 = 2 0 20 3 4 e R P 271 @ 25610
53 axd 15 09:50 u= 09:00 = 35 10 30 1 2 b pialaa Clail) L 5l spusd 272 & 55777
88 pxd 15 02:50.  01:00 - 4 10 30 1 2 e Clail) L ol spusd 272 & 55778
113 pxd 15 08:50 u= 08:00 u= 4 1 30 1 1 8 palae Al Qlladal) dglal 280 G2 25738
88 pxd 15 02:50.  01:00 - 3 30 1 2 (slee Al Qlladal) dgal 280 G2 25739
113 pxd 15 10:50 s= 10:00 = 2 40 2 1 8 palae Al Qlladal) dglal 280 G2 61772
88 pxd 15 11:50 b= 10:00 = 3 0 40 2 2 e Al Qlladal) dglal 280 G2 61774
211 pxd 15 12:50. 12:00- 1 13 30 1 1 5 pialaa (3 Se panddl 320 3o 27614
88 pxd 15 09:50 s= 08:00 u= 5 13 30 1 2 sl (5SS il 320 3o 27615
211 pxd 15 08:50 u= 08:00 u= 4 0 30 2 1 & palae (3 Se panddl 320 3o 55874
88 pxd 02:50,  01:00 - 3 0 30 2 2 (slee (5SS il 320 3o 55875
23 pxd 15 12:50.  12:00- 4 0 20 1 1 & palae (AT il 322 @ 38503
88 pxd 15 02:50.  01:00 - 5 0 20 1 2 (slee (oS il 322 @ 38504
221 pxd 15 09:50 s= 08:00 u= 1 0 30 2 2 & palae Adal) Gl jSeall L ) b 330 oo 47451
88 pxd 15 09:50 s= 08:00 u= 3 0 30 2 2 e Al Gl jSeall L o) b 330 o 47452
221 pxd 15 09:50 s= 08:00 u= 1 11 30 1 2 & palae Sl s Saall (sl spad 331 G 55877
88 pxd 15 09:50 s= 08:00 u= 3 11 30 1 2 e Sl g Saall (sl sauad 331 G 55878
51 pxd 15 10:50 s= 10:00 = 1 30 1 1 LB Do 5aSl 8 el A 334 3o 27618
88 pxd 15 02:50,  01:00 - 1 30 1 2 e Do 5aSl 8 el A 334 3o 27619
51 pxd 15 02:50,  02:00» 5 30 1 1 5 palae G dlas 335 Gaa 28249
88 pxd 15 02:50,  01:00 - 4 30 1 2 (slee g dlas 335 Gaa 28250
111 pnd 15 11:50 s= 10:00 o= 1 12 30 1 2 b _palaa & il g Aadall fLaY) iy 340 G~ 25744
88 pnd 15 09:50 u= 08:00 4= 2 12 30 1 2 e & il Al fLaY) iy 340 G2~ 25745
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231 20 1 1 [BNIENY () sl 341 @ 55813
113 and 15 08:50 s= 08:00 u= 3 2 20 1 1 [BNIENY Alal) Gladisall ale 342 & 62040
88 and 15 09:50 s= 08:00 u= 5 2 20 1 2 (e Alal) Gladisall ale 342 & 62044
123 axi 15 12:50,  12:00, 3 7 30 1 1 5 ualas el Copalls obadll Lnlons Sae 344 Gas 27612
88 axi 15 11:50 4= 10:00 o= 3 7 30 1 2 e el paall s oball L sl 5 Se 344 3= 27613
51 axi 15 11:50 = 11:00 o= 5 0 30 1 1 b palaa s slall o Jelal) 345 G 59853
88 axd 15 09:50 o= 08:00 = 4 0 30 1 2 ol Aadall e laY) G Jelal 345 Gaa 59854
51 ani 15 11:50 o= 11:00 o= 5 0 30 2 1 b palaae sl ela¥l o Jelitl) 345 3 61866
88 ani 15 09:50 = 08:00 o= 4 0 30 2 2 (e sl ola¥l o Jelit) 345 3 61868
131 ani 15 08:50 = 08:00 u= 2 9 30 1 1 B palaa 300 graal) A el ASLaal) ) 518 345 @ 2273
88 axi 15 02:50, 01:00» 4 9 30 2 2 sl Laged) Ay pell ALl 18 345 s 2277
223 ani 15 10:50 o= 10:00 o= 3 7 30 1 1 B palaa Al Aglas 5 Gt 346 < 2281
88 axd 15 11:50 4= 10:00 = 2 7 30 2 2 (e Al Alaa 5 & il 346 2284
153 axd 15 11:50 4= 10:00 = 5 0 25 1 2 5 palaae Al L) jaal) 347 @i 24438
121 axi 15 12:50,  12:00, 3 0 25 1 1 5 palas clid¥lae 348 G 25747
88 axi 15 11:50 = 10:00 u= 3 0 25 1 2 e clid¥lae 348 G 25748
13 axd 15 10:50 4= 10:00 = 5 0 25 1 1 5 palaae siledll e 349 G 25750
88 axd 15 02:50 - 01:00 » 4 0 25 1 2 e leadl e 349 G 25751
151 axd 15 09:50 s= 09:00 = 2 12 20 1 1 b palaae Ain Lo glsad 349 @ 25709
88 axd 15 11:50 s= 10:00 o= 1 12 20 1 2 e Ain Lo glsad 349 @ 25710
143 axd 15 09:50 s= 08:00 = 1 8 30 1 2 b palaa A L) &, 351 G 27620
88 and 15 11:50 s= 10:00 o= 2 30 1 2 e A L) & 351 G 27621
11 axi 15 12:50,  12:00, 15 20 1 2 5 palas clall 4 5all ebal) 358 29831
88 and 15 09:50 s= 08:00 = 5 20 1 2 e Ll 4y Jall el 358 29832
53 and 15 09:50 s= 09:00 = 3 12 40 1 1 5 palaa BRI RN 359 @ 29833
88 and 15 11:50 s= 10:00 o= 4 20 1 2 e llall 4 359 @ 29834
88 pnd 15 09:50 s= 08:00 u= 1 20 2 2 e Dllall &l 359 @ 55844
53 pnd 15 09:50 u= 09:00 = 2 30 1 1 b _palaa Agdall Al Ll 3a8all S il 362 Gaa 27624
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and 15 02:50, 01:00 . 3 2

88 30 1 2 shee Al Zal) LIS A S 362 G 27625
43 axd 15 11:50 b= 11:00 = 3 9 30 1 1 8 palaa alalaiay laill sai 373 @ 27653
88 axd 15 02:50, 01:00 . 3 9 30 1 2 shee aladiia g laill gad 373 @ 27654
241 and 15 11:50 b= 10:00 = 4 0 30 3 2 b pialaa Gllabll ol 384 s 28218
88 axd 15 02:50, 01:00 . 2 0 30 4 2 e Gllabll ol 384 28219
88 and 15 AN (e 2ang ol 10 10 1 4 g 55 G g 5 0ia (1) 398 s 61764
113 axd 15 08:50 u= 08:00 u= 3 0 30 1 1 b pialaa 4Ll Glasisall 440 @s 27651
88 axd 15 09:50 u= 08:00 u= 5 0 30 1 2 (slee ALl Glacisall 440 @x 27652
123 axd 15 09:50 u= 09:00 = 3 0 10 3 1 b palaae Bla Ayl maa Ay 442 & 55495
88 axd 15 04:550, 01:00 . 3 0 15 1 4 (slee Gl ale A 3dee iy 443 & 61757
111 axd 15 09:50 u= 09:00 = 5 4 20 1 1 b palaae Al il g 8 444 & 28231
88 axd 15 02:50, 01:00. 3 4 20 1 2 (slee Al <l 553 444 & 28232
13 and 15 02:50, 01:00. 4 0 20 1 2 5 palaae (Al ) Apadall 3 ) gall 3 ) 446 —x 27900
13 and 15 02:50, 01:00. 4 0 30 1 2 5 pialaa L lal s Agmadall 3 1 sall 449 ©p 59808
51 and 15 09:50 u= 08:00 u= 5 6 30 1 2 5 palas bl Sl g il ole 450 G 27464
88 and 15 02:50, 01:00. 5 6 30 1 2 (slee (ehl) il 5 pill le 450 3o 27465
51 and 15 08:50 u= 08:00 u= 24 0 25 3 2 5 palaae bl Sl g il ole 450 G 47155
88 and 15 02:50, 01:00- 3 0 25 3 2 (slee () il g il ole 450 G 47156
51 and 15 11:50 o= 10:00 o= 1 5 25 4 2 b palaae bl Sl g il ole 450 G 47176
88 and 15 02:50, 01:00. 5 5 25 4 2 (slee (o) il g il ole 450 G 47177
31 and 15 10:50 o= 10:00 o= 24 0 25 1 2 b pualaa acliadl Jle 451 G 27460
88 and 15 09:50 o= 08:00 o= 2 0 25 1 2 e aclial ale 451 3 27461
31 and 15 02:50, 01:00. 1 5 25 2 2 LB aclial ole 451 3 47453
88 and 15 02:50, 01:00. 2 5 25 2 2 e aclial ole 451 3 47454
131 and 15 11:50 o= 11:00 o= 24 0 25 4 2 5 jralae ekl LSl Hle 460 G 40743
88 and 15 11:50 o= 10:00 o= 1 0 25 4 2 e (ol LSl ole 460 G 40744
131 and 15 10:50 o= 10:00 o= 24 5 25 6 2 b palae (ol LSl le 460 3 47457
88 pnd 15 09:50 o= 08:00 o= 2 5 25 6 2 e okl L s e 460 G~ 47458
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pn 15 09:50 = 08:00 u= 5 0

213 30 1 2 5 palae Lgs Clllas 463 G 29821
88 pn 15 02:50, 01:00, 5 0 30 1 2 e Lgs Clilas 463 G 29822
213 pn 15 11:50 = 10:00 = 4 7 25 2 2 5 alae Lgs Clllas 463 G 51927
88 pn 15 02:50, 01:00, 2 7 25 2 2 DS Lgps Clilae 463 G 51928
213 pn 15 09:50 = 08:00 U= 5 0 30 3 2 5 palae Lgps Clilae 463 G 59875
88 pn 15 02:550,  01:00, 5 0 30 3 2 e Lgps Clilas 463 G 59876
33 axi 15 09:50 4= 09:00 u= 4 5 25 2 1 5 palae felia b o S 465 3= 27631
88 pn 15 02:50,  01:00, 4 5 25 1 2 DS Lelialasloms S 465 G 27632
33 pn 15 09:50 = 09:00 U= 4 0 25 3 1 5 palae Lelialasloms S 465 G 59890
88 pn 15 02:50,  01:00, 4 0 25 2 2 DS Lelialasloms S 465G 59891
33 pn 15 09:50 = 09:00 U= 5 0 25 4 1 5 palae Lelialasloms S 465 G 59897
88 pn 15 09:50 = 08:00 U= 2 0 25 3 2 e Lelialasloms S 465 G 59898
33 pn 15 09:50 4= 09:00 U= 5 0 30 5 1 5 palae Lelialasloms S 465G 61905
88 pnd 15 09:50 4= 08:00 U= 2 0 30 4 2 e Lelialasloms S 465 G 61907
151 pnd 15 12:550,  12:00, 2 10 40 2 1 5 palae Dol ba shsms Sae hadia 466 32> 47459
88 pnd 15 09:50 4= 08:00 U= 3 6 20 2 2 AR Dol ba shsms Sae dhadia 466 G2 47460
88 pnd 09:50 = 08:00 U= 4 4 20 3 2 e Dol ba shsms Sae hadia 466 32> 62246
211 pn 15 02:550,  01:00, 2 0 25 1 2 5 palae bl bkill e 470 G 27472
88 pn 15 09:50 4= 08:00 U= 1 0 25 1 2 e bl cbkill e 470 G 27473
211 pn 15 11:550 0= 11:00 0= 24 5 25 2 2 5 palae bl bkill e 470 G 47461
88 pn 15 09:50 4= 08:00 U= 1 5 25 2 2 e bl bkill e 470 G 47462
133 pad 15 08:50 4= 08:00 U= 3 8 30 1 1 5 walae Ll dawailde) )y 472 @ 29835
88 pad 15 02:550,  01:00, 1 4 15 1 2 DS Ll dswiidel ;472w 29836
88 pad 15 11:50 0= 10:00 U= 2 4 15 2 2 e Ll dswiidel ;472w 55853
233 pad 15 08:50 4= 08:00 U= 4 7 30 1 1 5 walae Al elbeS 473 29837
88 pad 15 02:50, 01:00, 3 7 30 1 2 e Gl cbeS 473 s 29838
221 pn 15 12:550,  12:00 5 0 40 1 1 5 palae Gl @lle 487 G 28251
88 pn 15 11:50 0= 10:00 u= 5 0 20 2 2 e Gl @llse 487 G 59909
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pxd 15 02:50.  01:00 - 3 0
88 20 1 2 shee Al Gl e 487 3> 28252
88 Y 15 11:50 4= 10:00 o= 5 0 20 3 2 sl ke Gl e 487 3 61997
241 pxd 15 12:50. 12:00- 4 5 35 1 1 & palaa el Jlaiy) 490 G 27479
41 pxd 15 10:50 u= 10:00 = 5 0 25 2 1 b pialaa el Jlasy) 490 G 55880
88 axd 15 12:50, 09:00 = 2 0 30 1 10 e llakally bl sa e yx 491 & 29839
88 axd 15 02:00, 07:00 o= 3 30 60 3 12 sl 5 Al 5 A1l il 5 Saall s 8 iy 5 492 3 62155
S daa

02:50,  02:00 » 3

04:50,  03:00- 45
88 pxd 15 12:50. 08:00 o= 2 11 20 1 10 (slee A Alia, iy 5 492 & 62202

04:50,  03:00 - 24

03:50,  03:00-
88 and 15 04:50, 11:00 o= 2 12 60 2 12 (e danall Gl paall oo dlom g Kae A ly N 493 G 43544

02:00, 08:00 = 1
88 pxd 15 Al e 2aay 0l 0 0 1 6 ¢ s i Qg 5 e 498 2123
88 pxd 15 Al e 22ay 0l 5 2 2 6 ¢ s i Qg 5 e 498 24264
88 pxd 15 A (e 22ay o 0 2 3 6 ¢ s i Qg 5 e 498 24265
88 pxd 15 A (e 22ay o 0 2 4 6 ¢ s i Qg 5 e 498 24266
88 pxd 15 A (e 22ay o 0 2 5 6 ¢ s i Qg 5 e 498 24267
88 pxd 15 A (e 22ay o 0 2 6 6 ¢ s i Qg 5 e 498 24268
88 pxd 15 A (e 22ay o 0 2 7 6 ¢ s i Qg 5 e 498 s 25624
88 pxd 15 AN (e 22agy o 0 3 8 6 g s phe G g 5 e 498 s 25625
88 pxd 15 A (e 22ay o 0 2 9 6 g s e G g 5 e 498 s 25626
88 pxd 15 A (e 22ay o 0 1 10 6 g s e G g 5 e 498 s 25627
88 pxd 15 A (e 22ay o 0 0 11 6 g s e G g 5 e 498 s 28233
88 pxd 15 A (e 22ay o 0 0 12 6 g s e G g 5 e 498 s 28234
88 pxd 15 AN (e 2aay ol 0 0 13 6 ¢ s phe Sy g g phe 498 s 28235
88 pxd 15 A (e 2aay o 0 0 14 6 ¢ s phe Sy g g phe 498 s 28246
88 pxd 15 A (e 2aay o 0 0 15 6 ¢ s phe Sy g g phe 498 s 28247
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